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O-F i X £ T 8K 5 = it
01| T & H B 504 568 676 1,244
002 | 77 A H 645 749 810 1,559
003| k£ & H Hfr 352 355 343 698
004 | % 9 g i) 987 1,208 1,085 2,293
005| XK R Hr 740 912 913 1,825
006 | & & F H 1,375 1,693 1,606 3,299
007 | # F  H 169 267 218 485
08| 5 4 H 813 971 1,058 2,029
009 | K f& H 531 729 720 1,449
010 | R H ) 992 1,325 1,422 2,747
011 | £ B F B 666 832 876 1,708
012 | & & H 863 1,124 1,277 2,401
013 | 8h H ) 559 757 846 1,603
04| & & H 875 1,108 1,140 2,248
015 | B B H 121 148 173 321
061 | XEREHET—TH 34 36 24 60
062 | XEHEI_TEH 204 182 186 368
063 | XEHET=TH 13 35 60 95
064 | XFEHET T H 94 101 129 230
071 | 4A%HAHE—TH 33 27 44 71
072 | A%HABIZTH 272 274 231 505
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K 1 X A | HER 5 £ i
081 | M BT — T H 0 0 0 0
082 | FA T — T H 32 947 37 984
083 | A B = T H 167 164 199 363
091 | lis#Hr— T H 86 80 106 186
092 | BT _—TH 95 251 410 661
101 | FMET—TH 111 100 114 214
111 | FHHEET—TH 121 130 132 262
112 | FSHBEIZTH 86 69 69 138
113 | FHFHET=TH 117 117 131 248
114 | FHHEETETH 133 130 152 282
115 | FTEFHEATH 155 111 160 271
116 | FHHEETATH 148 141 141 282
117 | FEHETETH 124 141 160 301
118 | FHHEET/NTH 140 144 157 301
121 | EBFHI—TH 81 72 78 150
122 | EBFHAI_TH 50 63 62 125
123 | EZRFHI=TH 80 80 93 173
124 | EBFHAIMNTH 73 70 54 124
125 | ERBFHATH 107 113 120 233
126 | EBFHAIANTH 154 127 133 260
127 | EBFHETH 145 94 162 256

a8 & 13,047 16,545 16,507 33,052




